=

Addcinion Dinlls (32) Mame:

Solve cach problem.

T#l= LR I+8= LEX T
E+dl= S4+3= I+7= Ivl=
G4d= T+3= i+2= B+l=
Jed= ed= 149= Faplh=
2elm R lahim Iefm
l+1= I 4= I+E= LR
d4d= 3+3= Itl= F+b=
94 i= I+3= i+d= Atz
S+ldm Teldn ledm P I
h+3= I d+i= I+ = I¢d=
B+l1= — G+ 3= 1+2= I+d=
I+d= I+ 3= I+8i= I+T=
[LE Galdm 149= T llle
2+4}= B+i= I+l= I+ l=
S+1= I 243= I+ = I+8=
1+3= _ B+i= J+hb= I+l=
had= Te3= I+d= Iel=
dslm TR LT Te7m
T+il= I I+3= I+d= I+d=
Y+dI= 5+3= 1+7= I+b=
s 3= d4d= is+8= Iei0=
Qels [T 147m Tedm
d#d= T+i= l+d= I+i=
BE+l= — d4i= EE I4l2=
1+3= h+d= i+i= I+h=
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